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7.5 Ellipse 
=
pÉãáã~àçê=~ñáëW=~=
pÉãáãáåçê=~ñáëW=Ä=
cçÅáW= ( )MIÅcN − I= ( )MIÅcO =
aáëí~åÅÉ=ÄÉíïÉÉå=íÜÉ=ÑçÅáW=OÅ= =
bÅÅÉåíêáÅáíóW=É==
oÉ~ä=åìãÄÉêëW=^I=_I=`I=aI=bI=cI=í=
mÉêáãÉíÉêW=i=
^êÉ~W=p=
=
=

645. bèì~íáçå=çÑ=~å=bääáéëÉ=Epí~åÇ~êÇ=cçêãF 
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Figure 115. 

646. êN + êO = O~ I= 
ïÜÉêÉ== êN I== êO ==~êÉ==Çáëí~åÅÉë==Ñêçã==~åó==éçáåí== m(ñIó) = =çå=
íÜÉ=ÉääáéëÉ=íç=íÜÉ=íïç=ÑçÅáK=
=
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Figure 116. 
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647. OOO ÅÄ~ +=  
=

648. bÅÅÉåíêáÅáíó 
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649. bèì~íáçåë=çÑ=aáêÉÅíêáÅÉë 
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650. m~ê~ãÉíêáÅ=cçêã 
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I= π≤≤ OíM K 
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=651. dÉåÉê~ä=cçêã 
^ñ O +_ñó +`óO +añ + bó + c = M I==

ïÜÉêÉ= _O − Q^` < M K=
=

652. dÉåÉê~ä=cçêã=ïáíÜ=^ñÉë=m~ê~ääÉä=íç=íÜÉ=`ççêÇáå~íÉ=^ñÉë 
^ñ O +`óO +añ + bó + c = M I==
ïÜÉêÉ= ^` > M K 
=



653. `áêÅìãÑÉêÉåÅÉ 
( )É~bQi = I==

ïÜÉêÉ==íÜÉ==ÑìåÅíáçå=b==áë==íÜÉ=ÅçãéäÉíÉ==ÉääáéíáÅ=áåíÉÖê~ä==çÑ=
íÜÉ=ëÉÅçåÇ=âáåÇK==
=

654. ^ééêçñáã~íÉ=cçêãìä~ë=çÑ=íÜÉ=`áêÅìãÑÉêÉåÅÉ 
( )( )~ÄÄ~RKNi −+π= I==

( )OO Ä~Oi +π= K=

=
655. ~Äp π= =

=
=
=


